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Problem 5

DUTCH SOLITAIRE

Every year on December 5, in the Netherlands, Sint Nicolaas travels all the way from Spain to
deliver candy and gifts to the children. But what does he do on December 25?7 He likesto sit
around and play afew rounds of Dutch Solitaire, while he follows the progress of hisidol on the
NORAD radar (http://www.noradsanta.org/).

Dutch Solitaire is played with N candies, divided into P piles. Each pile need not have the same
number of candies. For example, if Sint Nicolaas had 26 candies, he might choose to put them in 5
piles, with 2, 3, 5, 7, and 9 candiesin each pile.

Each ‘round’ consists of taking one candy from each pile, and using these candies to create a new
pile. Thefirst round with the example above would yield 6 piles, with 1, 2, 4, 6, 8, and 5 candiesin
each pile. After the second round the piles would contain 7, 6, 5, 4, 3, and 1 candy. Note that one
pile has disappeared, but it has been replaced by the new pile formed in the round. After the Sth
round, there will be six pilesthat again have 7, 6, 5, 4, 3, and 1 candy. Thisiscaled a“losing
position” because the contents of the piles repeated a configuration other than that of the round that
immediately preceded it. The gameisthen over.

A “winning position” in this game is achieved when around produces piles that will be repeated in
any immediately subsequent round. The game is over at thistime. For example, if round 15 of a
game produced piles of 5, 4, 3, 2, and 1 candy, this would be called a“winning position” since
every subsequent round will also produce piles of 5, 4, 3, 2, and 1 candy.

Notes:

$ The order of the pilesis not important; that is pilesof 1, 3, 4, and 6 are the same as piles of
4,1,6and 3.

$ The original pile configuration will be such that the game will not end after the first round.

$ There will never be more than 100 rounds in a game.

The input file (DATAS) will contain five lines of data, each line will contain N, the number of
candies, (0<N<=100), P the number of piles at the start of the game (0<P<=15), and then P positive
integers that represent the number of candiesin each pile. Each of these values will be separated by
asingle space.

The output file (OUTS) will contain five lines of data. Each line will contain the word WIN or
L OSS depending on the outcome of the game and the number of rounds in the game. Theword is
separated from the number of rounds with a hyphen.



Sample | nput (Only threelines given)

26 535279
285284509
104 511 3
Sample Output
LCSS- 9

WN-17

W N- 6



